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Supplemental Fig. 2. Replicate comparisons.
A. Scatter-plots showing comparison between CASC3 nRIPiT and xRIPiT replicates (leftmost plot), 
and between replicates of CASC3 xRIPiTs (other three plots). The specific RIPiT being compared is
indicated on top of each plot. For comparisons between xRIPiTs from -CHX and +CHX conditions, 
individual replicates for each RIPiT were combined. Correlation coefficients are in the top left corner.
B. CASC3 CLIP replicate comparisons. Correlation coefficients are in the top left corner. 
C. Scatter-plots as in A showing comparison between RNPS1 nRIPiT and xRIPiT, or between 
replicates of RNPS1 xRIPiTs.
D. RNPS1 CLIP replicate comparisons as in B.
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